LP253 Slotted Pan Head Machine Screws and Nuts 1.866.529.7664 www.lawsonproducts.com
| 0O AT A | N | I | I 00 0 | OO AT A A | 0 0 A A AU
1206 1208 1210 1211 1214 89940

O G
© o O O s
6-32 Hex Nut 8-32 Hex Nut 10-24 Hex Nut 10-32 Hex Nut 1/4-20 Hex Nut 6-32x 1/2
|0 O AR A MO |00 O A A O | 0 0 R AWM A | I 00 O AT A | I 00 AT | 0 0 AT
89942 89944 89949 89951 89953 89955
Lq._um '—'W= E.‘ Iﬁ .
R é Ao Oonsmm RS o
6-32 x 3/4 6-32x 1 8-32x1/2 8-32 x 3/4 8-32x 1 8-32x1-1/2
|0 O AR AN |00 R AR A | 0 0 N A A | I 00 O AT A A | I 0T A R | 0 0 A A
89960 89962 89964 89966 89973 89975
o ( n . IR . _ pia—

e ooy C o e S
10-24 x 1/2 10-24 x 3/4 10-24 x 1 10-24 x 1-1/2 10-32 x 1/2 10-32 x 3/4
|0 O A A AN |00 O AR A AN 0 | 0 0 O AT | I 00 O AT A | I T O AT | 0 0 R AT A
89977 89979 89984 89986 89987 89989

A & A A,
wemt— ( pmmm—— i (S i |
10-32 x 1 10-32 x 1-1/2 1/4-20 x 1/2 1/4-20 x 3/4 1/4-20 x 1 1/4-20 x 1-1/2

A20 |[PHOTOS ACTUAL SIZE|

Serviced only by e LAWSON

NOTE: Bottom of backplate represents front of LP drawer.
© 2010 Lawson Products, Inc. Printed in USA (1/10)




